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From where do you derive it; from the last ®%>; but by the last 975
itself, @9 is written

OVERVIEW

The X713 here concludes that even though we have a 2"1913, nevertheless without
X¥nn Xx¥ni we would not be able to include everything because ultimately the last
995 is 0*n, which limits us to 0°°11 °9¥2, and cannot include everything. Our MooIN
discusses this answer.

=59 NN NYHN RYNH AYPN SNINT PNYY 1329 HN D793991) YUN 19°29 290 NV Nt )
5'"a1972 WK 2" also asked this from the >''9, that there is still the difficulty,

why we need the X3»n XX1257 to include everything -
- D90 SH¥a NIN 291 HY2) DA9) YA 39295 S8 NOT 1193 N

For since we are saying that we cannot include from this >''1212 anything more

than n''ya -
= 152 2955 9N 19 N9YH7 DIVN

Since a1 is written by the 95> itself -
= NN XD N9YIY 0N N5 Yy 19 DN

Therefore perforce we must conclude that the word 2> is not to be used as a %> -
= £ N2 NIN 219D XY 2099 113N DD TPIVNIN ININ XD INT

For if it is a Y72 why are all these 2°uv5 necessary, let it only state 2vm 172%13 -
= 0N *H¥a Y5 ") 13°29) MM

And it would also include all 1"'¥3 (only), just as it would have included them if all the
07D were written; nothing is gained by writing the 2’079 -
- 0N 0¥a H5 N9 MNY B1NT V992 KOO XIN NIN NITD IND NIYN

It is therefore evident that o>°17 is not a %92 but rather a v=s, so from the v=s of

a1 alone we can include all 13'"'»2 (this is what 21 means) -
— 9347 95 1293 Y099 N Yo

And from all these extra 2°v9p (of 7w 71 ), we will include everything —

X"7 proves that we can include everything from the 2°v79 (besides 0>n):
- NP9 DN 0N S9¥3 SNNNRY SN 'PINDA NIN 91

" The xn3 there states that the two 0°%%3 are X¥n77 and X¥nn and we insert the D019 (of o»n...7%) between the two

0°273 and we expound it as a 3"1913. The v of 7MW cannot be to teach us to include 1"y, for we know all n"va from

(the v of) o»n. Therefore it teaches us to include 1% 1M Y0207 127, So just like there the X713 derives from the
1
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And it is mentioned so shortly, where the X ) states, ‘if MW is coming to

include n''¥2 only, that cannot be for we derive 11"'va from the word 2%, therefore
"W is teaching us to include a 11mn 19 HvounT 927, similarly by us here let us say that the 095
(outside of o>°m) teach us to include everything.

Nv0IN answers:
= NDDOY NV NUDD RIINT INTI IPYT PNYY 19929 2PYM

And the 5" replied (to X"7) that certainly later where there is a 2'"121> -
= NN K81 122 IV 2TV 999NRTD

As the X711 states, ‘place 9w between X227 and XX%n’, therefore -
= 020 Y793 INDT ITON 132299 IVT VDN PYINT 929V IINP

The X3 correctly states that from the va577 P> of "W, we can include items

that are even not 11''v2 (even though W is a n"v2) -
= NP9) ©»NT XV9919 O»”N Hya Yoy

Since we derive all 7''v2 from the w92 of 2391, but this applies only later where we have
a bona fida 2™912 -
= 5099 DN DY INDT 129NN 2591 DY MHN RY 0N N NNNN NY¥NN XY XON HaN

However here where (at this point) there is no X¥%n Xx»:7 (for the question is why
do we need X¥nn X¥n7I), so if 2a»n is not a Y92, how can we include non-n''y2

from the 2°%99 (of "1 W, who are n"v2) -
- 29991 1P¥9 79390 99399 XN Y95 KIYT 199

Since there is no final %»> from which to include v=2;7 Pw> -
- 099 0N VY ON DIV )1 MY PRY HININ)

And since if we assume 2%77 to be a ¥92 we cannot include anything from these

215 (because there is no final 992) -
- 5951 )1 VYNY MVIN NI Y93 ONN MUYY 1IN 199598 >7N95 Yy

Perforce it is necessary to make 2-°17 a 2, and the nywms will come to exclude

from the %%>, that not all n"va are included as it would seem from the final %5 -
= DINNL MY DN VYN ANNVM INTAIY 927 Y9N VDN N1 AN

And we will say, just as the v9p (of 121 W) expresses something whose carcass

is X»un, etc. and we will exclude on account of these 0’075 any 2'%R%¥ NIBW, who
are not Xnvn at all. Therefore we need X¥nn Xx¥n7 to include everything and 2°Xnv now.

‘extra’ 0219 (like "21 W) that it includes 31 Svbvna 727, similarly now that we conclude the o>r is a v79, let us
derive from the other o°u15 everything which is 121 7% 19131 2uvn. See ‘Thinking it over’.
2 Even if we assume to look at 1 as a non-n"y3, nevertheless it is merely the v of 2W; without a following 973,
we cannot include anything else, just M.
? Otherwise if 21 remains a v to include only 11"y and we cannot include anything else because there is no other
593, then why did the 7710 write all these o v7.
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mooIn anticipates a difficulty:
- SNV 18 DIDNY 19 AN PPN NI INNT 23 YY N

And even though this Xin did not deem it appropriate to ‘grab’ the nxm»w

angle, so why here are we saying that without X¥»n X¥»71 we would exclude o°Xnv N9 because
of the XML argument —

mooin replies:
- 5125307 Y95 115 ©PNT 59 MYYY DKM O HYa 18 DIBNY 9199 MAY NN 9 NP7 N

That was only since he could have utilized the argument of 1''v2, and on

account of that he wanted to make the ®%> of 2+ like the 9> of 72°13, to mean

everything, therefore he prefers that interpretation rather than X210 -
=91 Hya 18 DI9NY D152 NI AN DY NIN ¥IYWN KXY 0NNYT PronT XNNYN YaN

But now that we conclude that 2>»1 can only refer to a n''¥2, and we cannot

utilize the n"'v2 angle -
- NIV 18 DIONY TO98 N3N N2 HY *Y NNY V99 19 ONT

For then the question remains why do we need the 2°uv9p; perforce the Xin needs
to utilize the XMW angle and exclude o°x»v MW and non-n"y2 -

$PYUNTI 927 DD MY YN RNN TPIVNIN 99N
Therefore, as the X713 concludes, we require Xx»n X327 to include everything.

SUMMARY

0> 11 cannot be a v (for then the other o°v1d are superfluous); it must be a 73 and
the o079 include only o°7v Mow who, like the o°v19, their m>°21 are Xnwn. We
therefore require XXnn X¥n77 to include everything; 2°X»v MW and non-n1"'v2.

THINKING IT OVER
According to 8",° we need only one v besides o1, why all the other 2°09?’

* See (following footnote, and) previous nX* 71"7 '01n (on the 'R Tny), TIE footnote # 38 and 39.
> See previous footnote # 4. The 11"7n had two choices (once it says 71 Man M) whether to say 11"y2 won 1797 2
"21, and then we would argue that we know that already from a™r, so therefore we must say that 21 means
everything (which is how the X3 actually said it, and the question of the necessity of Xx»n X¥n7 remains), or the
X713 could have said Xnwn 1N?21w 127 wWDH vI97 A7 and include only 1w MW (and not anything else, for o»n
would mean merely 11"v3). Faced with this choice the &73 opts for the former (57"¥2) and not the latter (of 7XMW)
because the discrepancy of the nmw is too large. However, now when there is no option that o>n can be a 995 that
means everything, therefore the option of 1"¥2 is nonexistent, when there is no other choice we are forced to use the
option of 71XMY and include only 0170 M2W.
® See footnote # 1.
7 See 7m0 wIon WK # 51-53.
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